= (RS / BEA
W s Zror= s B

7 B/ERE&RATVLRTIVI)
U DIV ta CEERARA / JIS2H%

BEREFEN. BREOHRRARF— (¥ —
RENTT CNIEREYE— KAV — R F YR T,
RSNSEILE CERED BUET,

b
Dk ]
— 7z v
O O
= No
| 7z A DI SY— I TR LIS
O CLEVERBICES X555

28 (L) +05mm BLE BlETB5E TR L

FIDOEGE Y F
M2 X 0.4 3.6 3.1 40 6.0 32 UD-42001
M2.5 X 0.45 46 39 57 7.0 4.0 UD-42501
M3 X 0.5 4.6 39 3.0 70 4.0 UD-43030
40 UD-43040
5.0 UD-43050
57 UD-43001
M4 X 0.7 6.4 55 5.8 9.5 5.6 UD-44058
6.5 UD-44065
82 UD-44001
M5 X 0.8 7.1 6.3 58 115 6.4 UD-45058
9.5 UD-45001
M6 X 1.0 8.6 7.9 6.5 14.0 8.0 UD-46065
9.5 UD-46095
12.7 UD-46001
M8 X 1.25 10.4 9.5 12.7 17.5 9.6 UD-48001
M10 X 1.5 11.8 11,0 12.7 235 11.2 UD-41001
¥ M2.6 X 045 HEUELRIRETT,
mBENDRSCITDOWLT : UD-43001-CD — C3604 (1BH F =V L) UD-43001-EC — C6801 (8L X#4)
7278 JIVESHY—LNV
E— C = AH—hDTE
3 ] + 0.5mm L E
TER gl© = F - D3Rl
IEINN
L2
N
2IDRVE Y F |
M3 X 0.5 55 46 39 63 57 06 70 40  FU-43001
M4 X 07 70 64 55 90 81 09 95 56  FU-44001
M5 X 08 80 71 63 106 95 11 115 64  FU-45001
M6 X 10 95 86 79 140 127 13 140 80  FU-46001
M8X 125 120 104 95 140 127 13 175 96  FU-48001

mENDXRECICDOULT : FU-43001-CD — C3604 (1BH F =V L#) FU-43001-EC — C6801 ($RL A#%)



